CABSTD68.DGN  7/10/05

CAD FILE -

1250

THE CLEAR ZONE IS DEFINED AS THE AREA BEHIND AN
END TERMINAL THAT IS AVAILABLE FOR SAFE USE BY
DIAPHRAGM PLATE ERRANT VEHICLES.
Part No. C1435G
TOP & BOTTOM (2 POSITIONS) THE SIZE OF THE CLEAR ZONE IS DEPENDANT UPON
DESIGN SPEED, TRAFFIC VOLUME, AND ROADSIDE

GEOMETRY (CROSS-SLOPE).

'‘CLEAR ZONE'

THE ROAD DESIGNER SHALL SPECFY CLEAR ZONE
DIMENSIONS TO COMPLY WITH THE REQUIREMENTS
OF THE RELEVANT STATE ROAD AUTHORITY.

STEEL YIELDING POST
Part No. C1796G
(POSTS 3 TO 6)

INGAL BLOCK
Part No. C1422
(POSTS 2 TO 6)

TOP POST
Part No. C1462G
(POSTS 1 & 2)

NOKOUT
Parft No. C1465
(POSTS 1 & 2)

STEEL POST INSERT
Part No. C1463G
(POSTS 1 & 2)

BOTTOM POST
Part No. C1468G
(POSTS 1 & 2)

DETAIL /A
./

EXPLODED VIEW

i
i
9 W —° N
° i
| S
| I
i
) m ] L o]
DIRECTION OF TRAFFIC —
PLAN VIEW
Tuo_z._. OF NEED (POST wvi
— BULL NOSE WITH SLOTS
FOR DIAPHRAGM ANCHOR PLATE — W-BEAM GUARDRAIL
Part No. C1434G Part No. C1168G Part No. C1342G
B NO BOLTS THROUGH PQOST - USE SHELF ANGLES (Part No. C1497G) .
N o SPLICE CONNECTION
W%”mmamom%mwwhw Wﬁzw% M16x180 BOLT & NUT W-BEAM GUARDRAIL USE M16x32 SPLICE BOLT & NUT
: Part No's. (1550 & (1520
Part No. C1615 (2 POSITIONS) Part No. C1344G
TOP POSTS 1 & 2 (8 POSITIONS PER CONNECTION)
— = 1 o e— .. ] ooy sy —
_ o o ‘ ] © ; ) -2
re e e 6] ° ° — ° °
= = = v o
e e o ef ° ° A < o ° °
° ° === ° ° -l he ° °
e e L wn, b —
BEARING PLATE CABLE ASSEMBLY M16x240 BOLT & NUT N2 Sl Bla
T BOTTOM POSTS 1 & 2
AN ORI i S NN NN NN NAOD
wﬁcf wmmmwoﬁmmzmi | M20x200 HEX BOLT & NUT
art o Part No. C1492 (4 POSITIONS) -
POSTS 1 & 2 W
(AN 5 g|o
Y, = =l
g g
I SOIL PLATE
Part No. (474G ¥
/ POST 3 lu/“ POST & == POST 5 - POST 6 = POST 7 —
STEEL TUBE STEEL TUBE STEEL YIELDING POST
— Part No. (1468G A ) . Part No. C1468G Part Na. C1796G
POST 1 POST 2 (POSTS 3 TO 6)
2000 2000 3 SPACNGS AT 1333 CENTRES STANDARD PQOSTS & GUARDRAIL SECTIONS
, RADII = 6m , STRAIGHT RADIl = 40m
ELEVATION
. . DATE INGAL CIVIL PRODUCTS
INEAL CIVIL —zm>—l O_<—— v—.oa:o.ﬁm ProJECT MELT TERMINAL (t 1710705 REFERENCE No.
B 5 DRAWN B FREEMAN
MW % 127-141 Bath Road, Kirrawee, NSW, 2232  Australia mn_lmm_l /W_m_lc_zo |_|m_”N—/\__Z>_l womlﬁ m/ﬂmlﬁm—/\_ DESIGNED -
@ m Telephone 61-2-9710 5555, Facsimile 61-2-9542 3667, Internet www.ingalcivil.com.au />\_|_|_I_ _Zm>_l w_th—A ,ﬂﬂ
m mﬂEu @© Industrial Galvanizers Corporation Pty Ltd ACN 000 645 415 {(2006) CHECKED T.C. DRAWING No
This drawing is th bject of COPYRIGHT. N t of it b d, duced TITLE .
ﬂ_:%//:@ ﬂ@@&m or Mouﬂa mw mm:< wmmmc:mgmnw ,w any form S::Micwram ou:o‘BMMﬁB,Mm,comzmoﬂwmﬂmmooﬂ\o:mmﬁ mmzm_nN>_l >_HN_”N>ZOm—<_mZ|_| MATERIAL - AS SHOWN
0| INTIAL BSUE TC | /00 FINSH — HD.GALV. CAB-STD-68
GE. Description Chkd Date ) BINSW - pdACT - LJaLD  [INT Qvic DTas  LJwa LIsA NG LIHK U (mmkm N.T.S. REV.0




